Find the x-intercepts of each quadratic.
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13) Two students, a swimmer and a math nerd, were at the pool one summer day.  The swimmer jumped from an initial height of 8 feet from the diving board and followed the curve,
[image: image13.wmf]2

(1)9

yx

=--+

, as measured by the math nerd.  When the swimmer asked the math nerd how the dive looked, the math nerd told her the maximum height of her jump and how far she was from the edge of the board when she landed in the water.  This is the story of why they never dated.  What did he say?  
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